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Motion Fire And Critical Hits

Description

A fellow player asked a question on Discord regarding Motion Fire and Critical Hits.
Specifically, he asked if an Original 1,1 is a Critical Hit when using Vehicular Target Type.
Before we dive into this together, take a moment to see what you think. Got it? Good!

| have written a whole series of articles on tank vs. tank combat. | have even covered
some aspects of Motion firing before. There are plenty of nuggets in those but those
articles do not mention this topic. | am not sure why that is as | know that while | was
writing those articles Klas and | specifically spoke about this situation. | am not sure why
this didn’t make it into any articles. Let’s look together.

Rules Dive

A couple of rules come into play in this situation. First, we must consider D2.42. Per
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D2.42, a Motion/Non-stopped vehicle must add the case C4 To Hit (TH) DRM. Looking at
the C5 Firer Based Hit Determination DRM table, Case C4 comprises one of the other C-
cases (C, C1, C2, C3), with the addition of a +1 DRM for Stabilized Guns (D11.1x) or a
doubling of the lower die of the Original TH DR for non-Stabilized Guns. Looking at the C
Cases, Cases C1 and C2 say Case C plus an additional DRM. Case C itself says Case B plus
a DRM dependent on the Gun mounting. This is a lot of cascading rules to unpack to play
to even resolve the hit correctly.

Then a 1,1 is rolled. Now what?

Now the second rule comes into play. According to C3.7, a Critical Hit (CH) occurs on an
Original 2 DR when firing on the Vehicle Target Type (VTT). But there is an exception, and
it is important here. The exception says “If only the lowest Final TH DR possible for
that shot would achieve a hit, a CH occurs only on a subsequent dr of 1
following that hit; 2-6 results in a normal hull hit (or a normal turret hit vs a HD
vehicle);".

Now that we have all the tools we need, let’s see how to properly apply them.

Example

(ujli] Fi

It is the German MPh. The German player pushes a PzIV out to attack the Motion
Sherman. The American player shoots at a range of 7 hexes, yielding a Basic TH# of 9.
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There are no modifiers so the Basic TH# is the Modified TH#.

The Motion Sherman pays the C4 TH DRM. The PzlV began in the Sherman’s LOS (or has
spent at least 3 MP) so the Sherman pays Case C. The Sherman’s Gun is non-Stabilized
but it has a Fast Turret Traverse (D1.31). The Sherman’s Firer-based DRM are +2 Case C,
+2 Case B and it must double the lower dr of the TH DR. Since the PzIV is a Moving
Vehicular Target (C.8), a +2 Case ] Target-based DRM applies.

The Sherman rolls a 1,1 Original TH DR. Recall, there are +6 total DRM AND the Sherman
must double the lower die of the Original TH DR. This means, the Final TH DR is a 9,
exactly what the Sherman needs to hit. This means the Sherman could only hit on the
lowest possible DR. While it may seem a 1,1 is a CH, the exception says we need a
subsequent dr to determine the outcome. On a 1, the hit is a CH. All other drs result in a
normal Hull hit, except we hit a Hull Down target in the turret on a 2 - 6, even though the
hit itself is not a CH.

If the PzIV were at range 6, the Basic TH Number would be 10. All DRM remain the same.
A 1,1 still yields the same Final 9 TH DR. This time, the lowest possible DR is not the only
one that hits. A 2,1 or a 1,2 also hit (double the “1” to a “2”, add the +6 DRM to achieve a
Final TH DR of 10). At this range, a 1,1 IS a CH.

Stabilized Gun

Refer to the previous example. Here, give the Sherman a Stabilized Gun. The Sherman’s
Firer-based DRM are now Case C +1. So the total Firer Based DRM are +4 (+1 Case C4,

+1 Case C, +2 Case B). The Target-based DRM remain +2. A 1,1 is now a CH (see if you
can work this out).

What if the Sherman had an Acquisition? Per C6.55, a Stabilized Gun can maintain
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Acquisition for Motion/Bounding-First Fire TH attempts if the target remains in LOS. If it
had an Acquisition, this would change the total Target-based DRM to +1. A 1,1 WOULD be
a CH even at ranges 13 to 18. (Again, see if you can work this out).

If the Gun were not Stabilized, the same outcome could apply if the target is a large
target.

Conclusion

If you take nothing else away from this article, remember a 1,1 is not a CH using VTT if it
is the only DR that hits. This even applies if we double one of the die. You should also
remember this nugget is in C3.7. Those two things together are enough to play this
correctly. It will take a bit to unpack the rules, but you can get there from C3.7.

Until next time. - jim
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